| B-394 ik
i REVISIONS RELEASED |
REV DESCRIPYION DATE APPROVED
— 4.62 MAX, CONSTRUCT 10N GASKET SEALED & VENTED R 123615 DELEE 1160 11; ADD “REE.. COMNECTOR® NOIE 193/5/11
3.812 T [26518] FIND NO 8 PART NO WAS 51204-730 {94/10/24| RS
! WAIN CONTACTS U {44746] ITEM 12 WAS 51/04-025 01/05/31% {i
CORF | GURAT 10N POT SIDE STABLE LIFE ELECTRICAL 50,000 CYCLES MiN,
VOLTAGE 1157200 VAC 400HZ
CURRENT: RES, 250 AP LIFE MECHANICAL 100,000 CYCLES MIN,
i~ IND. 250 AW MAX, WE1GHT 5 LBS. B OZ.
WOToR 175 M OPERATING TIME 2545 MAX, AT 28 VOC 25°C
RUPTURE 2500 AMP RELEASE TIME 2505 MAX, AT 2B VDG 25°C
AUX. CONTACTS BOUNG
CONF 1 GURAT 10N 6PST NO BRST NC CORTACT £ 3 U5 MAX.
VOLTAGE 28 VDC.
> CURRENT: RES. 5 e
’ o 2 IND, 5 Me
e @ 3 1] R o LAwP 2 uP
(3) ~ f < 0 (DIL DATA
Y] u DUTY CYCLE CONTINUOUS (ECONOMIZING)
@ NOM, COIL VDLTAGE t8 10 30 VOC
PICKUP MAX, 18 VDG
DROPOUT VOLTAGE 7 VOLTS TO 1 VOLT
RESISTANCE HOLD 48.5120% AT 25°C
e\ 1NRUSH 4.5 OHME20E AT 25°C
CURRENT HOLD 0.7 AP MAX, AT 25°C
LNRUSH 6 AMP MAX, AT 25°C
3
VENT LOCATION — \ ENVIRONMENTAL DATA : MECH. INTERLOCK
{OPTIONAL) 218088 woLE REF. MBIENT TEWP ~70°C TO 71°C MAX A
4 MTG. HOLES MS3112E-16-26P  VIBRATION .05 INCH DA FROM 5 TO 55 HZ
. CONNECTOR 10 6°S FROM 55 T0 500 HZ ;!
SHOCK 25 G'S FOR 6 10 9 W SEC. =
3/ mm.w%?_.__w_mm ~2A ACCELERAT10N 15 6'S !
ALTITUDE 50,000 FEET MAX,
@X . - ¢ 1411 1 51200-141 [SCREW-3/16 SHEET METAL STEFL
ﬁmu | 2 1314 T20584-D02 | WASHER-CAPT |VAT ING
(00— : 1218 [ 51704-074 |WASHER-FLAT 5/8 X 25/64 X .062 BRASS
-k 11
@\\ — 10[ 9 | 51807084 [WASHER-LOCK 3/B X _6RE X.094 SPLIT BRONZE
| i | o 914 | 51804-011 |WASHER-LOCK NO.4 BRONZE
oull z B[4 [51214-030 | SCREW 4-40 X_1 174 RD 1D, ST STEEL
= 7 19 | 50407-164 | NUT 3/8-24 X 5/8 X 7/32 HEX. BRASS
O o 3 B 11 | 32252-010 | CONTACTOR ASSEMBLY-PR|MARY
@/ oo 511 29805-002 | SHIFLD-TERMINAL
bt - 41717 1.32125-001 |PLATE-BASE COVER
311 132127-00 PLATE-WIRING D|AGRAM
2111 168043-001 BLATE ~NAME
1111 32771-001 | PLATE-WARNING
FIND | QTY PART OR NOMFNCLATURE OR FSO DRAWING OR MATERIAY
N |REGD IDENTIFYING NO DESCRIPT ION N0 | SPECIFICATION | o nOTE
P T u‘_ IMESS OTHERMZSE SPECIFIED
DHAOSIDE M 1N INOES HARTMAN® MANSF IELD, CHIO
T0LERAES 6
2 PL DEC.\3 PL DEC.JANGLES
T06 |:.010 | 10 [DR BYICSCI01/06/11) CONTACTOR-3PDT SIDE STABLE;
NOTES: CHK_BY L1, 250 AMPS, 115,200V, 400HZ,
MATERTAL ENGR g
1. MEET MIL-C-24010A {AS) PARA. 4.6.15.1 LOAD ME & o= - 093
RELEASE & SIZE | CODE TDLMT | OWG MO .
TRANSFER 3 PHASE,AC,
CONTR NO. —
R C |74063 B-394
SCALE NONE | [SHEET




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

TE Connectivity:
B394



http://www.mouser.com/TE-Connectivity
http://www.mouser.com/access/?pn=B394

